
Summer Math
Assignment

Students entering
7th Grade Regular and
7th Grade Accelerated

Math

Name: _________________

Note: This will be collected during the first few weeks of
school. Please complete this over the Summer, but do not
bring it until directed by your Math Teacher.
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Name __________________________________ Date _______________________________ 

Circle the correct answer, or fill in as directed. 

1. What is the answer to the following equation?

3n + 7 = 40 

A. 3 
B. 12 
C. 11 
D. 15 

2. Solve for y if 64 = 8y.

A. y= 8 
B. y=10 
C. y=4 
D. y=9 

3. Which of the following points is located on the x-axis?

A. (-5,0) 
B. (0,3) 
C. (-7,4) 
D. (9,8) 

4. Denise has been collecting data regarding the ages of all the children that

visit her local park. Below is a line graph that displays the data. What is the 

median of the data collected?  

A. 4 

B. 8   1   2  3    4   5    6   7  8    9  

C. 6  

D. 7 

5. What is 20% of 90?

 A. 18 

B. 20 
C. 22 
D. 24 
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6. Emily is going to sell lemonade today. She is selling each cup for $1.00. She has to spend

$0.25 to make 1 cup of lemonade. Today she made a profit of $18.75. How many cups of 

lemonade did Emily sell? 

A. 18 
B. 20 
C. 25 
D. 27 

7. Point A(-3,6) is reflected over the y-axis. Which of the following is the coordinate pair of

the reflected point? 

A. (-3,-6) 
B. (3,-6) 
C. (3,6) 
D.(-3,6) 

8. Anastasia received the following scores on practice math tests online.

79, 86, 81, 75, 93, 78, 87, 90, 80 

What is her mean test score rounded to the nearest whole? 

A. 83   

B. 86 

C. 84
 D. 81 

9. Jacob is fishing off a dock that is 5 ft above sea level. His line extends 32 ft before it hits the
ocean floor. How deep is the water?

A. 25 ft 
B. 32 ft 

C. 27 ft 

D. 5 ft 

10. David’s mom told him that if he scores higher than an 85/100 on his math test, she will
take him to get ice cream.  Which equation below represents this situation? 

A. G ≤ 85 
B. G > 85 
C. G < 100 
D. G > 100 
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11. Point B is 10 units away on a coordinate plane from (-2,9). Which of the following would

be the coordinates for Point B? 

A. (2,9)  

B. (10,9) 

C. (8,9)  

D. (2,18) 

12. What is the distribution of the line plot?

A. Skewed Left 
B. Skewed Right 
C. Normal 
D. Bimodal 

13. Jenny had $224 dollars in her bank account. A bill for $233 came out and left Jenny with

-$9 in her account. What is the absolute value of the money Jenny had in her account after 

the bill was paid? 

A. 9  

B. -9 

C. 1/9 

D. 0 

14. Solve the expression 2a + 5b when a=-4 and b=6.

A. -38 
B. -22 
C. 38 
D. 22 

15. Lance plotted a point on a coordinate plane. If he were to reflect the point over the x-axis,
which quadrant would it be located in? 

A. I 

B. II 

C. III 

D. IIII 
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16. A box plot is shown below.

What is the upper quartile of this data set? 

A. 2 
B. 8 
C. 6 
D. 10 

17. What is the absolute value of the following equation?

| x | + 3 = 7 

A. 4, 4 
B. -4, 4 
C. -2, 2 
D. -4, 0 

18. Which of the following algebraic expressions is equivalent to 3(4x+4)?

A. -1x +12 

B. 16x+16 

C. 12x + 4 

D. 12x+12 

19. Wilma drew a rectangle that is 10 cm long and has a width of 5 cm. Then she divided the
rectangle in half to form 2 identical right triangles. 

What is the area of each right triangle? 

A. 25 square cm  

B. 50 square cm 

C. 45 square cm  

D. 28 square cm 
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20. Use the histogram to answer the
questions below. 

Part A- How many times did women 
aged 50-70 visit the library? 

A. 9 times 
B. 7 times 
C. 21 times 
D. 2 times  

Part B- How many times did women aged 70 and 
over visited the library? 
A. 11 times  
B. 10 times 
C. 3 times 
D. 15 times 

21. What is 1,000 x 0.956?

A. 9,560 
B. 956 
C. 95.6 
D. 9.56 

22. Which number makes the following inequality TRUE?

2x + 7 > 20 

A. x=2 
B. x=3 
C. x=6 
D. x=7 

23. What is the area of the shape below?

A. 100 sq mm 

B. 180 square mm 

C. 165 square mm  

D. 225 square mm 
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24. Patrick collected the measurements of all the shoe sizes of the boys in his class. If the
mean of the data set he collected is 22, what is the missing number? 

18, 28, 34, 25, 14, 21, 16, 22, 25, _____    ? 

A. 17 
B. 22 
C. 18 
D. 26 

25. What is 1/2 x 4/5 ?

A. 30/10 

B. 5/10 

C. 2 1/2 

D. 2/5 

26. -77 = 9x - 5?

A. x = -8 

B. x = 9 

C. x = 8 

D. x = -9 

27. A right rectangular prism has a length of 8 1/2 feet, a width of 4 1/2 feet, and a height of

10 feet. What is the volume of the prism? 

A. 382 1/3 cubic ft 

B. 382 1/2 ft 

C. 382 1/2 square ft 

D. 382 1/2 cubic ft  

28. Which of the following is an example of a statistical question?
A. What is Ted’s favorite season? 
B. What percentage of Ted’s class plays sports?  
C. How many months are in a year? 
D. How many windows are on the Empire State Building? 

29. Greg is looking to buy a new kayak that costs $525.85.  If he saves half of his allowance of

$50.00 each week, how many weeks would it take for him to save the money needed to buy 

the kayak? 

A. 22 weeks  

B. 21 weeks 

C. 25 weeks 

D. 15 weeks 
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30. Solve for x.
 8 = -2x 

A.  4 

B.  -4 

C.  8 

D.  -2 

31. What is the surface area of the following figure?

A. 100 square cm 
B. 40 square cm    
C. 105 square cm 
D. 98 square cm   

32. Which of the following is the equivalent equation of 3a + 3b?

A. 3 + a(3+b) 
B. 3(a) + 3(c)
C. 3(a+b)  
D. 3a + (-3)b 

33. What is 14 + (-13)?
A. 0 

B. 1 

C. 2 

D. 3 

34. What is the greatest common factor of 45 and 60?
A.  180 

B.  22 

C.  15 

D.  4

35. Pamela types 90 words a minute. If she maintains the same rate, how many words will
she type in 5 minutes? 

A. 450 words. 
B. 990 words.  
C. 180 words.  
D. 360 words. 
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36. What is the greatest common factor for 60 and 90?

A. 15 

B. 30 

C. 45 
D. 60 

37. Rewrite the following equation using the distributive property.

8 x 25 

A. 8(20+5) 

B. 8(20) + (5) 

C. 25=8m 

D. 20 + 8(5)  

38. Karen and Julie are both selling girl scout cookies. For every three boxes Karen sells, Julie

sells five. Which ratio shows the number of boxes Karen sells to the number of boxes Julie 

sells? 

A. 5:8 

B. 8:5 

C. 5:3 
D. 3:5 

39. What is the reciprocal of 1/7?
A. 7 

B. 1/7 

C. 70 
D. 700 

40. What is 52?

A. 15 

B. 10 

C. 25 

D. 50 
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41. John takes 500 steps in 4 minutes. How many steps does he take in 6 minutes?

A. 1000 steps 

B. 750 steps 

C. 800 steps 

D. 950 steps 

42. Complete the tree factor.

43. Isabella is making brownies for her family. The table below shows how many ingredients

she needs per batch.  Please complete the table. 

Cocoa Eggs 

1 batch ½ cup 2 

2 batches 

3 batches 

44. Which of the following is equivalent to 1 ¾?
A. 1 x ¾ 
B. 1% 
C. 2 
D. 1.75 

45. Sandra is making a smoothie that consists of 86 grams of milk. The whole shake has 430
grams. What percent of her smoothie is milk? 

A. 40% 
B. 20% 
C. 10% 
D. 80% 
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46. What is 12 + (-15)?

A. -3 
B. 3 
C. 27 
D. -27 

47. Allie has $32.00 to spend on school supplies. After buying two notebooks, she has $21.50

left. How much did she spend on each notebook? 

A.  $6.50  

B.  $10.25 

C.  $4.49 

D.  $5.25 

48. What is -8 - (-8)?

A.  16 

B.  -16 

C.  0 

D.  1 

49. What is 40% of 80?

A.  32 

B.  40 

C.  50 

D.  28 

50. What equation represents the data shown on the following number line?

A. -5 + 7 = 2 

B.  -7 +5 = -2 

C.  0 + 7 = 7 

D.  0 + 5 = 
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